
Count the coins and write the total amount.

Counting Coins

Terry parked his hatchback in the nearby town-centre car park for half-an-hour and paid

12 ten pence coins for the service. How much did it cost Terry to park the car?

11)

pounds

pounds

Lucy buys a bar of chocolate with 8 twenty pence coins. What is the price of the chocolate

bar?

12)

1)

£

2)

£

3)

£

4)

£

5)

£

6)

£

7) 21 !ve pence coins

9) 7 ten pence coins

= £

= £

8)  9 !fty pence coins

10) 5 twenty pence coins

= £

= £
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